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BcEYIEDO 100,0 99,1 0,1 0,1 0,7 0,0 0,0
Baaroesrpax 100,0 99,0 0,0 0,1 0,9 - 2
mrac 1m’0 99’5 — 0'0 0,5 - -
BapEa 100,0 98,5 0,0 - 1,3 0,1 0,1
BUIHE 100,0 99,3 0,1 - 0,2 0,4 -
Bpena 100,0 39,6 0,2 0,1 0,1 - -
I'QGPOBO 1m,0 99’8 — - 0,2 - -
Koxaporrpax 100,0 99,7 0,1 - 0,1 0,1 =
Kesprzans 100,0 95,5 0,1 0,4 5,0 = =
Kocresxna 100,0 99,1 0,2 pEia. 0,5 0,1 =
JloBew 100,0 98,8 - 0,3 0,9 - -
MExallnoBrpax 100,0 97,9 0,2 - e - 0,2
Tla3apr=ER 100,0 99,7 - 0,1 0,2 - =
TepEEE 100,0 99,3 - 0,1 0,6 - -
IlnreBeH 100,0 99,1 0,0 0,1 0,8 - =
IL10BXEB 100,0 99,6 0,1 0,0 0,3 0,0 0,0
Pasrpax 100,0 98,6 0,1 - 1,2 0,1 -
Pyce 100,0 99,5 0,1 0,1 0,3 - -
CramcTpa 100,0 99,7 0,2 - 0,1 = =
Camper 100,0 97,6 - 0,6 1,8 0,0 -
CuongH 100,0 97,0 - - 3,0 - -
I'p.Codua 100,0 99,2 0,2 0,1 0,4 = 0,1
Codud 100,0 99,5 0,1 0,1 0,3 - -
Crapa 3aropa . 100,0 99,5 0,0 - 0,4 0,1 0,0
Toa0yxXme 100,0 99,5 - 0,1 0,4 - -
THprosEme 100,0 99,1 = 0,1 0,8 - -
T'IWOIO 1m'0 99'8 —- P 0.1 - 0’1
YAcKOBO 100,0 98,2 0,0 0,1 1,7 - -

fludoxn 100,0 99|9 = . 0,1 - -



